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15 CHM.5.3.01.004.10 Calculate the number of representative particles present in given mass of a comound (lonic and molacular) and vice versa
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15 CHM.5.3.01.004.10 Calculate the number of representative particles present in given mass of a comound (lonic and molacular) and vice versa Text book - student edition + example 8, 9 + applications + 205,206, 207, 208
figure 11
@/\ D
‘ —-—‘4'4 _b—“ V'J 0’.’..." _-’...-' . — - “
a 226 g AgNO, b 6509 ZInS0, c. 350 g HC)

dngha' adl)' e a2y T — ol P v,—-'—-i,.‘ 2 a3 A P e P s J'*“T
,.u‘ —— - e~ e — s o i - —— —.”‘ "4.

a. 250 kg Fe O, b 254 mg PbCl,

Jas il _.S,‘_,..SSSQL,.‘;\_.,._:..J“,:..#.‘,»y apiih JL) O
Laasandy oS ol dde ) Al Ll apii 2ls a0 o dl Joiay O Y
S pully Sl o)t o da M le AJe) AL La 1850 g/mol A
Jepandlt Lalas o lial o' ALY glia ' rhes JJ L0 vaa et S

Imol _5 ..

1850 g &2

0.0297 mol _5 .. x SSOM’,.‘,



Sl i) s () o CMSIOLOOAITS 49 14 i 49 98t + QIS
15 [CHM5.3.01.004.10 Calculte the number of epresentative particles present n given mass of a comound (lonic and molecular) and vice versa . 205,206,207, 208
A ULAT pre: PATHICEES e Be e ' Text book - student edition + example 8, 9 + applications +

figure 11

- l_s -
(AICH) apdt¥ 4 plS olomanr ! ¥ge I ALS So Jegatt *!
o s el gy Jalindll peicaly Jp M A0S B pasce st e 3o G S pe

356 g ol LukS apu ¥ 4y 018 ]
, ¢ i ' " -5 < ) , . . LN |

Thagaged! apd¥) bl 2as 5 8 -.:\ § AT Al \,.9 —_— — 3 A 2L DN Al 8 _l._.. \_;,‘

agar gl s olSh Dbyt 3ac oS b

PRGN ) LIRS LI TSN LIS TR L FEAN al JL AkSH L, €

1 <

! e, ——— s B

1
J

ddeat! Slas g ¢ L el L PN

L ]

._‘....,.Y‘ " _'.’)J.J sas W) \!J' 4.3_.:}.'...’ s alls . J,..x.'\

vl s
) i.<n | ! < 5 ! <
i) sace AP* by sace Ll Sl gy AICH s 356 g AL ——ed i) ALY AT sl il BEe 4> yde 7 & L
pey : O i) ‘ k> sasy i ak<sn AICKH ii e =l aJb atsiny C . " . . . .« o1
= g P - e ey ' ,‘0, ol ) 2 : 4l o) — s _,_;.!- =y g . dagla) a3} Jesas Jy' Ille
b ¥ e g T 0 o =l 13 - il ol - Cl —la g ~’.v“AI b e Al dLgllal) N

wle! JU Mol Ao bua ) A L AL '9-'- _v.l—-&- J-’ _.’_AJL e _...-_.&J' - . . -—-)".-' ._L._Q-h; —.;—L-.- ‘; (__"J‘

| 2 L. .
phadl W Taas e - ‘

lae \r‘” - T ls ')’_. ~'_3 ._'_...,_)" ,' tyalt sas Aadanile .‘.Lry.’

J b e - :

? AP _'ab,a; QL‘”"'J“ 356 g = AICI; aLs ' e 1 md \r'. Sl ' .;.L.,,' s _'."a BAL"T 3t s i B B>
201 Slgl = Sl sas

? g/formula unit AICI AL

ot o > e K,85 9 JEe sk LA M)l e Al saag

Bl

Jsendd il
i gai i S Sl SURp Sbess AICH; 5o ade) AL sun
Al jmcall Adged! GBS 3 2698&1\1
lmof‘lﬂ X m— 269891“
R L e e S T
Cl jamiall GJ el AL 3 & 3‘5459$| ’063SgC|

A pedt RSS! pd Jllea! (2698 g + 10635 g) = 13333 g/mol AICl; = aJ,) ik

R e N Y el Al el b elaa alaac
1 mol AICI,
B e et A|C|.’_1.4 TT x AICH; aLs
1 mol AICI,

AGL o AICI, = 35.6 g ats, gl
PU ) 9 S 3546 9“"0; X

—————— = 0.267 mol AICI,
Jaudty LAICH, = 1 mol/133.33 g adged! 13333 g Ader,




S A D ) GUSIOLOMIT 4 04 il 4 el S

CHM.5.3.01.004.10 Calculate the number of representative particles present in given mass of a comound (lonic and molacular) and vice versa

15

205,206,207, 208

Text book - student edition + example 8,9 + applications +

fimira 11
v /@

i AR Al a W W e e \’l e ‘,.4' sl (Jelins e piy (C:NgO“) Joulu ¥ ‘2

456 9 Jelsd' e aal AlS gl

Tl lpde geiad LN Lp SN CJuS sas oS 8
Thapn el by bl i san S D
Wosr sl Sead P 200 2as o3 £
225 g yoba (Na SOy spnpalt oS (n dal alis 43
hapnsd Na* ) sus 5 8
b
NESO; e baaly) A sy 2l SN L7 C
520 g ot S (CO) L W oS B L e 09

"JP’J' _-..,.SJ' _.',-4 2aa o B

"AP’.' SO)’ -‘Lo" P

L.

s o Senaad¥ SJh 20 o3 D

WOy o sy sgpndl ol adl W L €
Cidea! Slang oo 459 X 0% L, goios 0 (NGCD Lpupalt o 0l s L 45
258 g bl el daad ley S e s ,’.n.; 46

Aol SlegS e 29 B

Tagall 3 bigepd! Slip ) sus oS b
tia) o gt ShelY) sus o5 €

i) —hag o e 2 adl Moy ) by S L d




]
iy il ol 2 ) e s e A (gl Jhagid 22 sy CHML5.3.01.004.10 11 thw +933JL‘4+ITJ|H|H155|_|=5 j

CHM.5.3.01.004.10 Calculate the number of representative particles present in given mass of a comound (lonic and molacular) and vice versa 205,206, 207, 208 g.)

Text book - student edition + example 8,9 + applications +

figure 11
- Bl Jeul) 5,0 g By T SN =
& _yLL 4' "J' M‘ﬁ' ,'. e " JL——- .
( . Sl 2 el ) e o
-‘& 9 oY a0 Blogh ou ¥ Ll Leaall

) P L

b ¥ o) )il ¥ ee sae




16

L ol 19 e 1 ol gl g CHM53.01.009.01

. A4
sl + 10U + (lall LS o) 209,210,211,212)

CHM.5.3.01.009.01 Calculate the percent composition (percent by mass of an element) from experimental data
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CHM.5.3.01.009.03 Determine the empirical formula of a compound given the mass of the elements
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CHM.5.3.01.009.03 Determine the empirical formula of a compound given the mass of the elements
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18 CHM.5.3.01.008.02 Explain the relationship between the empirical formula and the molecular formula using models and/for drawings
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